Assignment # 2
Solution
It is often more cost-effective to acquire software than to build it. There may be several different options available. The final decision depends upon the criticality of the software to be purchased and the end cost. A decision tree can be built to analyze different options in this regards. Let us consider the following example where a decision tree can be built to analyze different options. In this case, we have four different options, namely, build, reuse, buy, and contract. We analyze each one of these with the help of a decision tree. Each node of the tree is further partitioned a probability is assigned to each branch. At the end, cost for each path in the tree, from root to a leaf, is estimated and associated with that path. This process is shown in the following diagram.


Once the information in the tree is complete, it is used to determine the most viable option. You need to calculate the expected cost of each option and which one is the most viable option according to this analysis and why?
Build      = 0.35*450000 + 0.60*500000 = 457500
Reuse     = 0.5*280000 + 0.5*0.25*300000 + 0.5*0.75*475000 = 355625
Buy        = 0.80*210000 + 0.35*350000 = 290500
Contract = 0.80*350000 + 0.20*500000 = 380000
Therefore, according to this analysis, it is most viable to buy than any other option. 
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